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Question # a b c d e

1 a b c d e

2 a b c d e

3 a b c d e

4 a b c d e

5 a b c d e

6 a b c d e

7 a b c d e

8 a b c d e

9 a b c d e

10 a b c d e

11 a b c d e

12 a b c d e

13 a b c d e

14 a b c d e

Question # 15 16 17 18 19 20 21 Total
GRADE /4 /4 /4 /4 /4 /4 /4 / 28
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1. If the region bounded by the curves y  x2 , x − axis , and x  1 is
revolving about x  −2 , then the volume is expressed by the integral

a. V  2 
0

2
x − 1x2dx

b. V  2 
0

1
x2 − 2x dx

c. V  2 
0

2
x  1x2dx

d. V  2 
0

1
x  2x2dx

e. V  2 
0

2
x2 − 1x dx

2. The arclength of the curve y  2
3 x 3

2 for x  0 to x  3 is equal to :

a. 14
3

b. 26
7

c. 124
15

d. 15
4

e. 22
5
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3. One of the following is TRUE

a.  2
x2 − 1

dx   dx
x − 1 − 

dx
x  1

b. The series ∑
n0



 3
2 

n  1
1 − 3

2

c. 
0

1
1 − x2 dx  

2

d. The integral 
1

 1
x dx is convergent.

e. The sequence sinn
n n1


is divergent

4. The area of the region bounded by y  lnx , x − axis , and x  e is :

Notation a. e

b. 1
2

c. lne − 1

d. e − 1

e. 1
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5. 
6


3
 1

x2 sin 1
x

dx

a. 2 − 2
3

b. 1
2 −

2
3

c.
3
2 − ln2

d. ln 3  2

e. ln 3  ln2 − 3 

6. 
0

2 dx
x − 12 

a. 2

b. 1
2

c. Divergent

d. −1

e. −2
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7. 
0


3 tan3x sec4x dx 

a. 9
2

b.
9 3

2
c. 27

2
d. 27

4
e. 9

4

8. d
dx  x

1
x tan t

t2  1
dt

a. ln 1
x − ln x

b.
− tan 1

x
1  x2 −

tan x
2x x  2 x

c. −1
1  x22

d. tan−1 1
x − tan−1 x

e.
tan2 1

x
2 −

tan2 x
2
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9. The radius of convergence of the power series ∑
n1


x − 1nn2

10n is equal

to:

a. 5

b. 10

c. 10

d. 1

e. 2

10. 
0

1
sin−1x dx 

a. 
2

b. 
2 − 1

c. 
4

d. 
4  1

e. 1
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11. 
− 

2

0 cos
sin2  2sin  2

d

a. ln5 − 1

b. ln5 − ln2

c. 
4

d. 
2

e. 1

12. 
0

ln2 dx
e2x − 1



a.
e4 − 1

2
b. 

4
c. 1

d. 2 e4 − 1

e. 
3



Math 102 Final B page 9

13. Let the series ∑
k1


1

2k − 1 −
1

2k  1 then the n th partial sum of the

series Sn is equal to:

a. Sn  2
3 −

1
2n  1

b. Sn  3
4 −

1
2n  1

c. Sn  1 − 1
2n  1

d. Sn  3
2 −

1
2n  1

e. Sn  1
2 −

1
2n  1

14. If the parametric curve x  cos2t , y  sin2t , 0 ≤ t ≤ 
2 , is revolving

about the x − axis , then the surface area is equal to :

a. 
2

b. 
2

c. 

d.  2

e. 2
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Solving Part (Show all of your work)

15. Find the interval of convergence of the power series ∑
n1


2nxn

n

16.  1
3 x  x

dx 
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17. 
0

ln2 tanhx
1  sinh2x

dx 

18. Find the volume of revolution if the region between the curve y  cosx ,
and x − axis from x  0 to x  

2 is revolving about the x − axis
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19. Determine if the series ∑
n0


3n  2n

75n is convergent or divergent , give the

sum if convergent.

20. Use the fact that 1
1 − x ∑

k0



xk , for |x|  1 , find the power series

representation of tan−12x , |x|  1
2
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21. Detrmine if the sequence n!
nn n1


is convergent or divergent


